
∫(𝑎𝑥 + 𝑏)𝑛 𝑑𝑥 =  
1

𝑎
 
(𝑎𝑥 + 𝑏)𝑛+1

𝑛 + 1
+  𝑐 

 

∫ 𝑒𝑎𝑥+𝑏 𝑑𝑥 =  
1

𝑎
 𝑒𝑎𝑥+𝑏 +  𝑐 

 

∫
1

𝑎𝑥 + 𝑏
𝑑𝑥 =  

1

𝑎
 ln|𝑎𝑥 + 𝑏| +  𝑐 

 

∫
𝑓′(𝑥)

𝑓(𝑥)
𝑑𝑥 =  ln|𝑓(𝑥)| +  𝑐 

 

∫ cos(𝑎𝑥 + 𝑏) 𝑑𝑥 =  
1

𝑎
 sin(𝑎𝑥 + 𝑏) +  𝑐 

 



∫ sin(𝑎𝑥 + 𝑏) 𝑑𝑥 =  −
1

𝑎
 cos(𝑎𝑥 + 𝑏) +  𝑐 

∫ sec2(𝑎𝑥 + 𝑏) 𝑑𝑥 =  
1

𝑎
 tan(𝑎𝑥 + 𝑏) +  𝑐 

 

∫ cosec(𝑎𝑥 + 𝑏) cot(𝑎𝑥 + 𝑏) 𝑑𝑥 =  −
1

𝑎
 cosec(𝑎𝑥 + 𝑏) +  𝑐 

 

∫ cosec2(𝑎𝑥 + 𝑏) 𝑑𝑥 =  −
1

𝑎
 cot(𝑎𝑥 + 𝑏) +  𝑐 

 

∫ sec(𝑎𝑥 + 𝑏) tan(𝑎𝑥 + 𝑏) 𝑑𝑥 =  
1

𝑎
 sec(𝑎𝑥 + 𝑏) +  𝑐 


